Question Answer Mk
1. a. In which part of the city do | Core/CBD 1
the richest people usually
live?
b. In which part of the city do | Inner-city 1
the poorest people usually
live?
C. The Core is often known as | Central Business District. 2
the CBD. What does CBD
stand for? Name one type Government buildings/tall
of building that buildings/banks/shops/old buildings.
may be found there.
2. a In what year was the 2006 1
number of people living in
Urban and Rural locations
the same?
b. Give two PUSH and two Award one mark for each point. There 4
PULL factors that lead to must be two push and two pull.
people moving from the
country to the city. PUSH
e The countryside is boring/has a
lack of jobs/dangerous/has a
lack of education or
healthcare/people don’t want
to be farmers.
PULL
e The city is exciting/has
jobs/access to healthcare and
education/opportunity to
become rich/more of a
buzz/family may be there.
Accept any other relevant factors.
3. a How many people need to 10,000,000 1
live in a city to make it a
megacity?
b. Explain why a slumisnota | Award one mark for a point and a 4
pleasant place to live. second if it is explained in some detail.
e Life is uncertain. Housing is
illegal and can be removed by
the government at any time.
e |t’s unhealthy. Disease can
spread quickly.
e Poverty. Poverty leads to poor
diet and possibly crime.




e Lack of resources. There is little
or no access to clean
water/sanitation/electricity etc.

e Housing is very basic. Hard to
keep warm or stable.

e Lots of people. This means lack

of available jobs.

Lack of access to

education/healthcare etc.

‘It is a good thing that more
people now live in cities
than outside of them.’ Do
You agree?

Explain your answer. Aim to
talk about both positive and
negative factors associated
with large

Cities. You must use
examples of specific cities.
Be sure to come to a
definite conclusion one
way or the other.

For this question, use the following
best fit from the table below.




Level 1

Describes some reasons for OR against the statement.

Low quality of English — SpaG (Spelling, punctuation and
grammar)

Level 2

Explains some reasons for OR against the statement.
OR
Describes some reasons from both sides of the statement.

Comes to a basic conclusion as to whether the statement is true
or not but this may not be explained.

Good SPaG — some mistakes but not many.

There must be references to at least one specific city to reach
Level 2.

Level 3

Complex explanations of arguments BOTH for and against the
statement.

Comes to a clear, reasoned conclusion.
Excellent SPaG with very few errors.

There must be references to more than one specific city to reach
Level 3.
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When you have found a mark out of 24, use this grid to show what grade you have

achieved:

Marks Grade

10 or less 2

11-14 3

15 4c

16 4a

17 5¢

18 5b

19 5a

20 6¢

21 6b

22 6a

23 7c

24 7b




